
2903



E1

x1 x1

E2

x2

E3

x2

E4

x1

E5



Nr Element Ʃ

9 ISO 7380 M6x25 2

11 DIN 1587 M6 2

15 ISO 7380 M6x30 2

19 ISO 7380 M6x40 4

21 DIN 125 8x16 13

22 DIN 125 6x12 17

23 - M6x12 9

24 ISO 7380 M6x16 4

25 ISO 7380 M6x35 3

58 - LOCTITE 1

61 - KL105 22

121 -
7100_5_A2_

g3_G_v1
4

147 - M6x10 4

213 - Z_NA_1 1

214 - Z_NA_2 1

Nr Element Ʃ

9 ISO 7380 M6x25 2

19 ISO 7380 M6x40 4

21 DIN 125 8x16 9

22 DIN 125 6x12 9

23 - M6x12 9

25 ISO 7380 M6x35 3

58 - LOCTITE 1

213 - Z_NA_1 1

214 - Z_NA_2 1

2903N 2903F



 2
0
0
 

 100  100 

 150  150 

 6
0
8
 

 412 

 112 

 2
5
8
 

 1
5
0
 

"0
"

 200 

 120  80 



E1

E4

E4

E3

E3

E2



 8
6
 

 4
0
 

 80 

 54 

 40 

 52  55 

 2
2
2
 

 162 

"0
"

1



2

Nr: Ʃ Element:

21 9x DIN 125 8x16

22 9x DIN 125 6x12

23 9x BN M6x12

19 4x ISO 7380 M6x40

9 2x ISO 7380 M6x25

25 3x ISO 7380 M6x35

INST_Z_6

8

22

23

21
22

19

E1

E2

9

23
21

E4

23

21

22

25

E3



 4
0
 

 4
0
 

"0"

!
3

min. 24HB25 0,5 m3


